

M. Sambasiva Rao

## CONGRUENCES AND IDEALS IN A DISTRIBUTIVE LATTICE WITH RESPECT TO A DERIVATION

### Abstract

Two types of congruences are introduced in a distributive lattice, one in terms of ideals generated by derivations and the other in terms of images of derivations. An equivalent condition is derived for the corresponding quotient algebra to become a Boolean algebra. An equivalent condition is obtained for the existence of a derivation.

**2000 Mathematics Subject Classification:** 06D99, 06D15.

*Keywords:* Derivation, kernel, congruence, ideal, kernel element.

### Introduction

In the past several years, there has been an ongoing interest in derivations of rings [3, 7] as well as derivations of lattices [4, 9]. Given a lattice  $(L, \vee, \wedge)$ , we call derivation of  $L$  any self-mapping  $d : L \longrightarrow L$  satisfying the following properties for all  $x, y \in L$ :

$$\begin{aligned}d(x \wedge y) &= d(x) \wedge y = x \wedge d(y) \\d(x \vee y) &= d(x) \vee d(y)\end{aligned}$$

However, it can be formally stated for every algebraic structure endowed with two binary operations. In [8], these ideas have been introduced and main properties of derivations in lattices are established by G. Szasz. On the other hand, the study of congruence relations on lattices had become a special interest to many authors. In the paper [5], G. Gratzer and

E.T. Schmidt also studied an inter-relation between ideals and congruence relations in a lattice.

In this paper, two types of congruences, are introduced in a distributive lattice, both are defined in terms of derivations. The main aim of this paper is to obtain a necessary and sufficient condition for the quotient algebra  $L/\theta$  (where  $\theta$  is one of the congruences) to become a Boolean algebra. If  $L/\theta$  is a Boolean algebra, then it is proved that  $\theta$  is the largest congruence having a congruence class. Another congruence relation is introduced on a distributive lattice in terms of the images of derivations. Some useful properties of these congruence relations are then studied. For any ideal  $I$ , a necessary and sufficient condition is derived for the existence of a derivation  $d$  such that  $d(L) = I$ .

## 1. Preliminaries

In this section, we recall certain definitions and important results mostly from [1], [2], [4], [8] and [9], those will be required in the text of the paper.

DEFINITION 1.1. [1] An algebra  $(L, \wedge, \vee)$  of type  $(2, 2)$  is called a lattice if for all  $x, y, z \in L$ , it satisfies the following properties

- (1)  $x \wedge x = x, x \vee x = x$
- (2)  $x \wedge y = y \wedge x, x \vee y = y \vee x$
- (3)  $(x \wedge y) \wedge z = x \wedge (y \wedge z), (x \vee y) \vee z = x \vee (y \vee z)$
- (4)  $(x \wedge y) \vee x = x, (x \vee y) \wedge x = x$

DEFINITION 1.2. [1] A lattice  $L$  is called distributive if for all  $x, y, z \in L$  it satisfies the following properties

- (1)  $x \wedge (y \vee z) = (x \wedge y) \vee (x \wedge z)$
- (2)  $x \vee (y \wedge z) = (x \vee y) \wedge (x \vee z)$

The least element of a distributive lattice is denoted by 0. Throughout this article  $L$  stands for a distributive lattice with 0, unless otherwise mentioned.

DEFINITION 1.3. [2] Let  $(L, \wedge, \vee)$  be a lattice. A partial ordering relation  $\leq$  is defined on  $L$  by  $x \leq y$  if and only if  $x \wedge y = x$  and  $x \vee y = y$ .

DEFINITION 1.4. [2] A non-empty subset  $I$  of  $L$  is called an ideal(filter) of  $L$  if  $a \vee b \in I$  ( $a \wedge b \in I$ ) and  $a \wedge x \in I$  ( $a \vee x \in I$ ) whenever  $a, b \in I$  and  $x \in L$ .

DEFINITION 1.5. [2] A binary relation  $\theta$  defined on  $L$  is a congruence on  $L$  if and only if it satisfies the following conditions:

- 1)  $\theta$  is an equivalence relation on  $L$
- 2)  $(a, b) \in \theta$  implies  $(a \wedge c, b \wedge c), (a \vee c, b \vee c) \in \theta$

The kernel of the congruence  $\theta$  is defined as  $Ker \theta = \{x \in L \mid (x, 0) \in \theta\}$

DEFINITION 1.6. [4] Let  $(L, \vee, \wedge)$  be a distributive lattice. A self-mapping  $d : L \rightarrow L$  is called a derivation of  $L$  if for all  $x, y \in L$  it satisfies the following properties:

- 1)  $d(x \wedge y) = d(x) \wedge y = x \wedge d(y)$
- 2)  $d(x \vee y) = d(x) \vee d(y)$

The kernel of the derivation is the set  $Ker d = \{x \in L \mid d(x) = 0\}$

LEMMA 1.7. [4] Let  $d$  be a derivation of  $L$ . Then for any  $x, y \in L$ , we have

- (1)  $d(0) = 0$
- (2)  $d(x) \leq x$
- (3)  $d^2(x) = d(x)$
- (4)  $x \leq y \Rightarrow d(x) \leq d(y)$

## 2. The congruence $\theta_d$

In this section, we introduce a congruence in terms of derivations of distributive lattices and obtain a necessary and sufficient condition for the quotient algebra of this congruence to become a Boolean algebra.

DEFINITION 2.1. Let  $d$  be a derivation of  $L$ . For any  $a \in L$ , define the set  $(a)^d$  as follows:

$$(a)^d = \{x \in L \mid a \wedge x \in Ker d\} = \{x \in L \mid a \wedge d(x) = 0\}$$

If  $a \in Ker d$ , then clearly  $(a)^d = L$ . Otherwise, Let  $a \notin Ker d$ . Suppose  $a \in (a)^d$ . Hence  $d(a) = a \wedge d(a) = 0$ , which is a contradiction. Hence  $a \notin (a)^d$ .

Some more basic properties can be observed in the following lemma.

LEMMA 2.2. *Let  $d$  be a derivation of  $L$ . Then for any  $a, b \in L$ , we have the following:*

- (1)  $(a)^d$  is an ideal in  $L$
- (2)  $a \leq b$  implies  $(b)^d \subseteq (a)^d$
- (3)  $(a \vee b)^d = (a)^d \cap (b)^d$

PROOF: (1). Clearly  $0 \in (a)^d$ . Let  $x, y \in (a)^d$ . Then we get  $a \wedge d(x \vee y) = a \wedge (d(x) \vee d(y)) = (a \wedge d(x)) \vee (a \wedge d(y)) = 0 \vee 0 = 0$ . Hence  $x \vee y \in (a)^d$ . Again, let  $x \in (a)^d$  and  $r \in L$ . Then  $a \wedge d(x \wedge r) = a \wedge d(x) \wedge r = 0 \wedge r = 0$ . Hence  $a \wedge r \in (a)^d$ . Therefore  $(a)^d$  is an ideal of  $L$ .

(2). Suppose  $a \leq b$ . Then we get  $a = a \wedge b$ . Let  $x \in (b)^d$ . Then we have  $b \wedge d(x) = 0$ . Now  $a \wedge d(x) = a \wedge b \wedge d(x) = a \wedge 0 = 0$ . Therefore  $x \in (a)^d$ .

(3). For any  $a, b \in L$ , we always have  $(a \vee b)^d \subseteq (a)^d \cap (b)^d$ . Conversely, let  $x \in (a)^d \cap (b)^d$ . Then we get  $a \wedge d(x) = 0$  and  $b \wedge d(x) = 0$ . Now  $(a \vee b) \wedge d(x) = (a \wedge d(x)) \vee (b \wedge d(x)) = 0 \vee 0 = 0$ . Therefore  $x \in (a \vee b)^d$ .  $\square$

LEMMA 2.3. *Let  $d$  be a derivation of  $L$ . For any  $a, b, c \in L$ , we have*

- (1)  $(a)^d = (b)^d$  implies  $(a \wedge c)^d = (b \wedge c)^d$
- (2)  $(a)^d = (b)^d$  implies  $(a \vee c)^d = (b \vee c)^d$

PROOF: (1). Assume that  $(a)^d = (b)^d$ . Let  $x \in (a \wedge c)^d$ . Then  $a \wedge c \wedge d(x) = 0$ . Hence  $a \wedge d(x \wedge c) = a \wedge d(x) \wedge c = 0$ . Thus we get  $x \wedge c \in (a)^d = (b)^d$ . Therefore  $b \wedge d(x) \wedge c = b \wedge d(x \wedge c) = 0$ . Thus  $b \wedge c \wedge d(x) = 0$ . Therefore  $x \in (b \wedge c)^d$ . Thus  $(a \wedge c)^d \subseteq (b \wedge c)^d$ . Similarly, we can get  $(b \wedge c)^d \subseteq (a \wedge c)^d$ .

(2). Let  $(a)^d = (b)^d$ . By above Lemma,  $(a \vee c)^d = (a)^d \cap (c)^d = (b \vee c)^d$ .  $\square$

In the following, a binary relation is introduced on a distributive lattice with respect to a derivation.

DEFINITION 2.4. Let  $d$  be a derivation of  $L$ . Then for any  $x, y \in L$ , define a relation  $\theta_d$  on  $L$  with respect to  $d$ , as  $(x, y) \in \theta \Leftrightarrow (x)^d = (y)^d$

The following proposition is a direct consequence of the above Lemma.

PROPOSITION 2.5. *For any derivation  $d$  of  $L$ , the binary relation  $\theta_d$  defined on  $L$  is a congruence relation on  $L$ .*

PROOF: Clearly  $\theta_d$  is an equivalence relation. Let  $x, y \in L$  such that  $(x, y) \in \theta_d$ . Then by above lemma, for any  $c \in L$ , we get  $(x \wedge c, y \wedge c), (x \vee c, y \vee c) \in \theta_d$ .  $\square$

By a congruence class  $\theta(x)$  (for any  $x \in L$ ) of  $L$  with respect to  $\theta$ , we mean the set  $\theta(x) = \{t \in L \mid (x, t) \in \theta\}$ . Let us denote the set of all congruence classes of  $L$  by  $L/\theta$ . Then it can be easily observed that  $(L/\theta, \wedge, \vee)$  is a distributive lattice in which the operations  $\wedge$  and  $\vee$  are given as follows:

$$\begin{aligned}\theta(x) \wedge \theta(y) &= \theta(x \wedge y) \\ \theta(x) \vee \theta(y) &= \theta(x \vee y) \quad \text{for all } x, y \in L.\end{aligned}$$

The concept of kernel elements is now introduced in the following.

DEFINITION 2.6. An element  $x \in L$  is called a kernel element if  $(x)^d = \text{Ker } d$ . Let us denote the set of all kernel elements of  $L$  by  $\mathcal{K}_d$ .

LEMMA 2.7. *For any derivation  $d$  of  $L$ , we have the following:*

- (1)  $\mathcal{K}_d$  is a congruence class with respect to  $\theta_d$
- (2)  $\text{Ker } d \subseteq (x)^d$  for all  $x \in L$
- (3)  $\mathcal{K}_d$  is closed under  $\wedge$  and  $\vee$  of  $L$
- (4)  $\mathcal{K}_d$  is a filter of  $L$ , whenever  $\mathcal{K}_d \neq \emptyset$

PROOF: (1). It is clear.

(2). Let  $a \in \text{Ker } d$ . Then  $d(a) = 0$  and hence  $x \wedge d(a) = 0$  for all  $x \in L$ . Thus  $a \in (x)^d$  for all  $x \in L$ . Therefore  $\text{Ker } d \subseteq (x)^d$  for all  $x \in L$ .

(3). Let  $a, b \in \mathcal{K}_d$ . Then we get  $(a)^d = (b)^d = \text{Ker } d$ . Then  $(a \vee b)^d = (a)^d \cap (b)^d = \text{Ker } d \cap \text{Ker } d = \text{Ker } d$ . Hence  $a \vee b \in \mathcal{K}_d$ . Clearly  $\text{Ker } d \subseteq (a \wedge b)^d$ . Conversely, let  $x \in (a \wedge b)^d$ . Then

$$\begin{aligned}a \wedge b \wedge d(x) = 0 &\Rightarrow d(x) \wedge a \wedge b = 0 \\ &\Rightarrow d(x \wedge a) \wedge b = 0 \\ &\Rightarrow x \wedge a \in (b)^d = \text{Ker } d\end{aligned}$$

$$\begin{aligned}
&\Rightarrow d(x \wedge a) = 0 \\
&\Rightarrow d(x) \wedge a = 0 \\
&\Rightarrow a \wedge d(x) = 0 \\
&\Rightarrow x \in (a)^d = \text{Ker } d
\end{aligned}$$

Hence  $(a \wedge b)^d \subseteq \text{Ker } d$ . Thus  $(a \wedge b)^d = \text{Ker } d$ . Therefore  $a \wedge b \in \mathcal{K}_d$ .

(4). Let  $a, b \in \mathcal{K}_d$ . Then we have  $(a)^d = \text{Ker } d$  and hence by (3), we get  $a \wedge b \in \mathcal{K}_d$ . For  $x \in L$  and  $a \in \mathcal{K}_d$ , we get  $(x \vee a)^d = (x)^d \cap (a)^d = (x)^d \cap \text{Ker } d = \text{Ker } d$ . Hence  $x \vee a \in \mathcal{K}_d$ . Therefore  $\mathcal{K}_d$  is a filter of  $L$ .  $\square$

In the following, a necessary and sufficient condition is derived for the quotient algebra  $L/\theta_d$  to become a Boolean algebra.

**THEOREM 2.8.** *Let  $d$  be a derivation of  $L$ . Then  $L/\theta_d$  is a Boolean algebra if and only if to each  $x \in L$ , there exists  $y \in L$  such that  $x \wedge y \in \text{Ker } d$  and  $x \vee y \in \mathcal{K}_d$ .*

**PROOF:** We first prove that  $\text{Ker } d$  is the smallest congruence class and  $\mathcal{K}_d$  is the largest congruence class in  $L/\theta_d$ . Clearly  $\text{Ker } d$  is a congruence class of  $L/\theta_d$ . Since  $\text{Ker } d$  is an ideal, we get that for any  $a \in \text{Ker } d$  and  $x \in L$ , we have  $a \wedge x \in \text{Ker } d$ . Hence  $\theta_d(a) \wedge \theta_d(x) = \theta_d(a \wedge x) = \theta_d(a) = \text{Ker } d$ . This is true for all  $x \in L$ . Therefore  $\theta_d(a) = \text{Ker } d$  is the smallest congruence class of  $L/\theta_d$ . Again, clearly  $\mathcal{K}_d$  is a congruence class of  $L/\theta_d$ . Let  $a \in \mathcal{K}_d$  and  $x \in L$ . Since  $\mathcal{K}_d$  is a filter, we get that  $x \vee a \in \mathcal{K}_d$ . Therefore  $(x \vee a)^d = \text{Ker } d$ . We now prove that  $\mathcal{K}_d$  is the greatest congruence class of  $L/\theta_d$ . For any  $a \in \mathcal{K}_d$  and  $x \in L$ , we get that  $\theta_d(x) \vee \theta_d(a) = \theta_d(x \vee a) = \theta_d(a)$ . Therefore  $\mathcal{K}_d$  is the greatest congruence class of  $L/\theta_d$ . We now prove the main part of the Theorem.

Assume that  $L/\theta_d$  is a Boolean algebra. Let  $x \in L$  so that  $\theta_d(x) \in L/\theta_d$ . Since  $L/\theta_d$  is a Boolean algebra, there exists  $\theta_d(y) \in L/\theta_d$  such that  $\theta_d(x \wedge y) = \theta_d(x) \cap \theta_d(y) = \text{Ker } d$  and  $\theta_d(x \vee y) = \theta_d(x) \vee \theta_d(y) = \mathcal{K}_d$ . Hence  $x \wedge y \in \text{Ker } d$  and  $x \vee y \in \mathcal{K}_d$ . Converse can be proved in a similar way.  $\square$

We conclude this section with the derivation of a sufficient condition for the congruence  $\theta_d$  to become the greatest congruence with congruence class  $\mathcal{K}_d$ .

**THEOREM 2.9.** *Let  $d$  be a derivation of  $L$ . If  $L/\theta_d$  is a Boolean algebra, then  $\theta_d$  is the largest congruence relation having congruence class  $\mathcal{K}_d$ .*

**PROOF:** Clearly  $\theta_d$  is a congruence with  $\mathcal{K}_d$  as a congruence class. Let  $\theta$  be any congruence with  $\mathcal{K}_d$  as a congruence class. Let  $(x, y) \in \theta$ . Then for any  $a \in L$ , we can have

$$\begin{aligned} (x, y) \in \theta &\Rightarrow (x \vee a, y \vee a) \in \theta \\ &\Rightarrow x \vee a \in \mathcal{K}_d \text{ iff } y \vee a \in \mathcal{K}_d \\ &\Rightarrow (x \vee a)^d = \text{Ker } d \text{ iff } (y \vee a)^d = \text{Ker } d \\ &\Rightarrow (x)^d \cap (a)^d = \text{Ker } d \text{ iff } (y)^d \cap (a)^d = \text{Ker } d \quad - - (\star) \end{aligned}$$

Since  $L/\theta_d$  is a Boolean algebra, by above Theorem, there exists  $x', a' \in L$  such that  $x \wedge x', a \wedge a' \in \text{Ker } d$  and  $(x \vee x')^d = \text{Ker } d, (a \vee a')^d = \text{Ker } d$ . Hence  $x' \in (x)^d$  and  $a' \in (a)^d$  which implies that  $x' \wedge a' \in (x)^d \cap (a)^d = \text{Ker } d$ . Therefore  $a' \in (x')^d$ . Similarly, we can get  $a' \in (y')^d$  for a suitable  $y' \in L$ . Thus by above condition  $(\star)$ , we get

$$\begin{aligned} a' \in (x')^d \text{ iff } a' \in (y')^d &\Rightarrow (x')^d = (y')^d \\ &\Rightarrow (x', y') \in \theta_d \\ &\Rightarrow x' \in \mathcal{K}_d \text{ iff } y' \in \mathcal{K}_d \\ &\Rightarrow (x')^d = \text{Ker } d \text{ iff } (y')^d = \text{Ker } d \\ &\Rightarrow (x \vee x')^d = (x)^d \text{ iff } (y \vee y')^d = (y)^d \\ &\Rightarrow (x)^d = \text{Ker } d \text{ iff } (y)^d = \text{Ker } d \\ &\Rightarrow (x)^d = (y)^d \\ &\Rightarrow (x, y) \in \theta_d \end{aligned}$$

□

### 3. The congruence $\theta^d$

In this section, a special type of congruence is introduced in terms of a derivation. Some properties of these congruences are studied. A necessary and sufficient condition is obtained for the existence of a derivation.

**DEFINITION 3.1.** Let  $d$  be a derivation of  $L$ . Then define a relation  $\theta^d$  with respect to  $d$  on  $L$  by  $(x, y) \in \theta^d$  if and only if  $d(x) = d(y)$  for all  $x, y \in L$ .

In the following sequence of Lemmas, some preliminary properties of the binary relation  $\theta^d$  are observed.

LEMMA 3.2. *For any derivation  $d$  of  $L$ , we have the following:*

- (1)  $\theta^d$  is a congruence relation on  $L$
- (2)  $\text{Ker } \theta^d = \text{Ker } d$

PROOF: (1). Clearly  $\theta^d$  is an equivalence relation on  $L$ . Now let  $(x, y) \in \theta^d$ . Then we have  $d(x) = d(y)$ . Let  $c$  be an arbitrary element of  $L$ . Then we get  $d(x \wedge c) = d(x) \wedge c = d(y) \wedge c = d(y \wedge c)$ . Hence  $(x \wedge c, y \wedge c) \in \theta^d$ . Again  $d(x \vee c) = d(x) \vee d(c) = d(y) \vee d(c) = d(y \vee c)$ . Hence  $(x \vee c, y \vee c) \in \theta^d$ . Therefore  $\theta^d$  is a congruence relation on  $L$ .

(2). For any derivation  $d$  of  $L$ , we have  $\text{Ker } \theta^d = \{x \in L \mid (x, 0) \in \theta^d\} = \{x \in L \mid d(x) = d(0) = 0\} = \text{Ker } d$ .  $\square$

LEMMA 3.3. *Let  $d$  be a derivation of  $L$ . Then we have the following:*

- (1)  $d(x) = x$  for all  $x \in d(L)$
- (2) If  $(x, y) \in \theta^d$  and  $x, y \in d(L)$ , then  $x = y$

PROOF: (1). Let  $x \in d(L)$ . Then we have that  $x = d(a)$  for some  $a \in L$ . Since  $d$  is a derivation, we get that  $d(x) = d^2(a) = d(d(a)) = d(a) = x$ .

(2). Let  $(x, y) \in \theta^d$ . Then we have  $d(x) = d(y)$ . Since  $d$  is a derivation and  $x, y \in d(L)$ , we can get  $x = y$ .  $\square$

Finally, for a given ideal  $I$ , a necessary and sufficient condition is obtained for the existence of a derivation such that  $d(L) = I$

THEOREM 3.4. *Let  $I$  be an ideal of  $L$ . Then there exists a derivation  $d$  on  $L$  such that  $d(L) = I$  if and only if there exists a congruence relation  $\theta$  on  $L$  such that  $I \cap [x]_\theta$  is a singleton set for all  $x \in L$ .*

PROOF: Let  $d$  be a derivation of  $L$  such that  $d(L) = I$ . Then clearly  $\theta^d$  is a congruence relation on  $L$ . Let  $x \in L$ . Since  $d(x) = d^2(x)$ , we get that  $(x, d(x)) \in \theta^d$ . Hence  $d(x) \in [x]_{\theta^d}$ . Also  $d(x) \in d(L) = I$ . Hence  $d(x) \in I \cap [x]_{\theta^d}$ . Therefore  $I \cap [x]_{\theta^d} \neq \emptyset$ . Suppose  $a, b$  be two elements in  $I \cap [x]_{\theta^d}$ . Then by above Lemma,  $a = b$ . Therefore  $I \cap [x]_{\theta^d}$  is a singleton set.



Conversely, assume that there exists a congruence  $\theta$  on  $L$  such that  $I \cap [x]_\theta$  is a singleton set for every  $x \in L$ . Let  $x_0$  be the single element of  $I \cap [x]_\theta$ . Define a map  $d : L \rightarrow L$  by  $d(x) = x_0$  for all  $x \in L$ . Let  $a, b \in L$ . Then clearly  $d(a \vee b) = x_0 = x_0 \vee x_0 = d(a) \vee d(b)$ . Now  $d(a \wedge b) = x_0 \in I \cap [a \wedge b]_\theta$ . By the definition of  $d$ , we can get that  $d(b) \in I$  and  $d(d(b)) = d(b)$ . Now we can obtain the following consequence:

$$\begin{aligned} d(d(b)) = d(b) &\Rightarrow (d(b), b) \in \theta \\ &\Rightarrow (a \wedge d(b), a \wedge b) \in \theta \\ &\Rightarrow a \wedge d(b) \in [a \wedge b]_\theta \\ &\Rightarrow a \wedge d(b) \in I \cap [a \wedge b]_\theta \quad (\text{ since } d(b) \in I ) \end{aligned}$$

Since  $d(a \wedge b) \in I \cap [a \wedge b]_\theta$  and  $I \cap [a \wedge b]_\theta$  has a single element, we get  $d(a \wedge b) = a \wedge d(b)$ . Similarly, we can get that  $d(a \wedge b) = d(a) \wedge b$ . Thus  $d(a \wedge b) = d(a) \wedge b = a \wedge d(b)$ . Hence  $d$  is a derivation of  $L$ .  $\square$

## References

- [1] R. Balbes and P. Dwinger, *Distributive Lattices*, University of Missouri Press, Columbia, Mo., 1974.
- [2] G. Birkhoff, *Lattice Theory*, Amer. Math. Soc. Colloq. XXV, Providence, U.S.A., 1967.
- [3] H.E. Bell and L.C. Kappe, *Rings in which derivations satisfy certain algebraic conditions*, Acta Math. Hungar., **53**(3-4)(1989), 339-346.
- [4] L. Ferrari, *On derivations of lattices*, Pure Mathematics and Applications, **12**(2001), no.45, 365-382.
- [5] G. Gratzer and E.T. Schmidt, *Ideals and congruence relations in lattices*, Acta Math. Acad. Sci. Hungary, **9**(1958), 137-175.
- [6] G. Gratzer and E.T. Schmidt, *On congruence relations of lattices*, Acta Math. Acad. Sci. Hungary, **13**(1962), 179-185.
- [7] E. Posner, *Derivations in prime rings*, Proc. Amer. Math. Soc., **8**(1957), 1093-1100.
- [8] G. Szász, *Derivations of lattices*, Acta Sci. Math.(Szeged), **37**(1975), 149-154.

- [9] X.L. Xin, T.Y. Li and J.H. Lu, *On derivations of lattices*, Inform. Sci., **178**(2008), no. 2, 307-316.

Department of Mathematics  
MVGR College of Engineering, Chintalavalasa  
Vizianagaram, Andhra Pradesh, India-535005  
e-mail: mssraomaths35@rediffmail.com